
Thin If n is an equivalence relation on X ,
the equivalence

classes of X partitions X
, ie. X is the disjointing

of the equivalence classes .

proot ( Need: every elk of X in exactly one equiv. class)
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So
,
let x c- Cb] . CNTs :

Sink X E Cb]
,

Also
,
since at Cb) and ac- Cc] ,

So c n
-

Thus
, by transitivity , so

Therefore Cb]

A similar argument shows that

Therefore
,
and therefore a lies in

-
equivalence class , as desired .

First
,
show [b) CAT .
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[c) Ccb] .

(b) = Cc]

exactly one



Note : The converse holds : given a partition of X, can

define an equivalence relation from it.


